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03
fzpjk; Neuk; : 1 kzpj;jpahyk;Rl;nlz; ........................................

jp/fpz;/fpz;zpah kj;jpa fy;Y}up - (Nj.gh)

Kjyhk; jtizg; guPl;ir - 2020

01. rupahd tpilapd; fPo;f; NfhbLf. 

 2. mWgj;njl;L vd;gij vz;fspy; vOjpdhy;

  1) 74    2) 63    3) 68

 3. 19 ,t; vz;zpd; vz; ngau;

  1) gj;njhd;gJ  2) gjpndl;L  3) xd;gJ

 4. gj;Jf;fs; 6 xd;Wfs; 3 vdpd; mt;ntz;

  1) 66    2) 36    3) 63

 5. 39 ,jpy; tUk; xd;Wfs; Fwpg;gJ 

  1) 9    2) 3    3) 39

 6. 13 + 27 =  fl;lj;jpy; tuNtz;ba vz;

  1) 41    2) 45    3) 40

 7. ,t;TUtpd; ngau; ahJ?

  1) rJuk;    2) Kf;Nfhzp  3) nrt;tfk;

 8. 5 juk; 2 vj;jid?

  1) 10    2) 12    3) 8

 1.  G+f;fspd; vz;zpf;if 

   1) 10    2) 12    3) 14
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 9. ePsj;ij msf;fg; gad;gLk; epak myF ahJ?

  1) nrd;wp kPw;wu;  2) fpNyh fpuhk; 3) kPw;wu;

 10. xU thuj;jpy; vj;jid ehl;fs;?

  1) 6    2) 7    3) 5

(10 x 2 = 20 Gs;spfs;)

(4 x 3 = 12 Gs;spfs;)

(4 x 2 = 08 Gs;spfs;)

02. ePsj;ij msf;fg; gad;gLk; epak myF ahJ?

03. vz;fspy; vOJNthk;.

 1)  ,Ugj;NjO   ....................

 2) Ik;gj;njl;L   ....................

 3) njhz;Z}W   ....................

 4) Kg;gj;njhd;gJ ....................

1)

2)

3)

4)

..................................

 .................................

..................................

..................................
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04. ntw;wplq;fis epug;GNthk;.

05. $l;LNthk;.

06. fopg;Nghk;.

07. ngUf;FNthk;.

 1)  gj;Jf;fs; 8  xd;Wfs; 0  vz;  ..............

 2)  gj;Jf;fs; 3  xd;Wfs; 6  vz;  ..............

 3)  gj;Jf;fs; 5  xd;Wfs; 3  vz;  ..............

 4)  gj;Jf;fs; 2  xd;Wfs; 6  vz;  ..............

 5)  gj;Jf;fs; 9  xd;Wfs; 2  vz;  ..............

      3    5
+    2    4

      1    7
 -      5

      3    5
-  1    1

      4    8
 -     6

      3    4
+    1    5

      7    0
+    1    2

      4    8
+    1    1

1)

1) 2) 3)

4)    11 - 4 = .........

1)    3  x  2 = 2)    8  x  2 = 

3)2) 4)

(5 x 2 = 10 Gs;spfs;)

(4 x 3 = 12 Gs;spfs;)

(4 x 3 = 12 Gs;spfs;)

(2 x 3 = 06 Gs;spfs;)
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08. fbfhu Kfj;jpy; fhl;lg;gLk; Neuj;ij vOJf. 

09. tUlj;jpd; KjyhtJ khjk; vJ?

 ................................................

10. xU $ilapy; 12 goq;fs; cs;sd. mtw;iw ,UtUf;F rkkhf 

tFj;jhy; xUtUf;F vj;jid fpilf;Fk;?

 ................................................

 jug;gl;l Neuj;ij fbfhu Kfj;jpy; Fwpj;Jf; fhl;Lf.

 Neuk; ........... kzp

 Neuk; 4.00 kzp

 Neuk; ........... kzp

 Neuk; 1.00 kzp

12 111

8 4

210

7 5

9 3

6

12 111

8 4

210

7 5

9 3

6

12 111

8 4

210

7 5

9 3

6

12 111

8 4

210

7 5

9 3

6

(4 x 3 = 12 Gs;spfs;)

(2 x 4 = 08 Gs;spfs;)
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